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Question 1   Primary 2 Math » Primary 2 Math (Term 3) 1 pt

Section A (5 x 1 mark)


Choose the correct answer.


How much money is shown below?


A) $ 54.70

B) $ 54.80

C) $ 55.70

D) $ 55.80

Question Type: Multiple Choice
Randomize Answers: No
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Question 2   Primary 2 Math » Primary 2 Math (Term 3) 1 pt

Which figure below shows that 1/4 of its shape is shaded?


A) 1

B) 2

C) 3

D) 4

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 19th Jan 2019
Last Modified: N/A
QID#: 15,990,602
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Question 3   Primary 2 Math » Primary 2 Math (Term 3) 1 pt

The mass of the chicken is ________ g.
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A) 340

B) 350

C) 360

D) 450

Question Type: Multiple Choice
Randomize Answers: No
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Last Modified: N/A
QID#: 15,990,622
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Question 4   Primary 2 Math » Primary 2 Math (Term 3) 1 pt

The length of the marker is __________ cm.


A) 10

B) 2

C) 3

D) 8

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 19th Jan 2019
Last Modified: N/A
QID#: 15,990,664
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Question 5   Primary 2 Math » Primary 2 Math (Term 3) 1 pt

Benny cut a bar of chocolate into 12 equal parts. He gave 5 parts to his friend. What fraction of the
chocolate was left?


A) 2/12

B) 3/12

C) 4/12

D) 7/12

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 19th Jan 2019
Last Modified: N/A
QID#: 15,990,688
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Question 6   Primary 2 Math » Primary 2 Math (Term 3) 2 pts

Section B (16 marks)


Work out the following questions carefully.


Arrange the fractions in order. Begin with the smallest. Put ‘space’ or ‘,’ between your answers.


5/10    2/10    10/10    8/10

Accepted answers:

2/10, 5/10, 8/10, 10/10

2/10 5/10 8/10 10/10

2/10,5/10,8/10,10/10

Question Type: Free Text
Date Added: Sat 19th Jan 2019
Last Modified: Sun 20th Jan 2019
QID#: 15,990,736
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Question 7   Primary 2 Math » Primary 2 Math (Term 3) 1 pt
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Fill in the blank with a suitable number.


a) $1.00 = ________ twenty-cent coins

Accepted answers:

5

Question Type: Free Text
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Question 8   Primary 2 Math » Primary 2 Math (Term 3) 1 pt

b) $10.00 = _________ one-dollar coins

Accepted answers:

10

Question Type: Free Text
Date Added: Sat 19th Jan 2019
Last Modified: Sun 20th Jan 2019
QID#: 15,990,766
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Question 9   Primary 2 Math » Primary 2 Math (Term 3) 2 pts

The lamp post is ________m shorter than the building.


Accepted answers:

18

18m

18 m
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Question 10   Primary 2 Math » Primary 2 Math (Term 3) 2 pts

What fraction of the figure below is unshaded?


Accepted answers:

4/9

Question Type: Free Text
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Question 11   Primary 2 Math » Primary 2 Math (Term 3) 2 pts

The sack of rice is ___________ kg heavier than the bag of sugar.
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Accepted answers:

7

7kg

7 kg

Question Type: Free Text
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Question 12   Primary 2 Math » Primary 2 Math (Term 3) 1 pt

A pizza is cut into 8 equal slices as shown below. Doris ate 4/8 of a 1 pizza. Fred ate 1/8 of the same
pizza.


a) They ate _______ of the pizza altogether.

Accepted answers:

5/8

Question Type: Free Text
Date Added: Sat 19th Jan 2019
Last Modified: N/A
QID#: 15,990,858
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Question 13   Primary 2 Math » Primary 2 Math (Term 3) 1 pt

A pizza is cut into 8 equal slices as shown below. Doris ate 4/8 of a 1 pizza. Fred ate 1/8 of the same
pizza.
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b) The fraction of the pizza left is _________. 

Accepted answers:

3/8

Question Type: Free Text
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Question 14   Primary 2 Math » Primary 2 Math (Term 3) 2 pts

Tim bought a notebook for 65¢ and an eraser for 25¢. He gave the cashier $2. How much change did
he receive?

Accepted answers:

$1.10

$ 1.10

Question Type: Free Text
Date Added: Sat 19th Jan 2019
Last Modified: Sun 20th Jan 2019
QID#: 15,990,880
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Question 15   Primary 2 Math » Primary 2 Math (Term 3) 1 pt

a) _______ and 2/6 make 1 whole.

Accepted answers:

4/6

Question Type: Free Text
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Question 16   Primary 2 Math » Primary 2 Math (Term 3) 1 pt

b) 1/9 and ________ make 1 whole.

Accepted answers:

8/9

Question Type: Free Text
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Last Modified: N/A
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Question 17   Primary 2 Math » Primary 2 Math (Term 3) 3 pts

Section C (9 marks)


Suzy is 135 cm tall. Rosie is 46 cm shorter than Suzy. Ben is 10 cm taller than Rosie. How tall is Ben?


Ben is ______ cm tall.

Accepted answers:

99

99cm

99 cm

Question Type: Free Text
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Question 18   Primary 2 Math » Primary 2 Math (Term 3) 1.5 pts

Hazel ate 4/11 of a cake. Her brother ate 3/11 of it.


a) The amount of cake eaten by them is ________.

Accepted answers:

7/11

Question Type: Free Text
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Question 19   Primary 2 Math » Primary 2 Math (Term 3) 1.5 pts

Hazel ate 4/11 of a cake. Her brother ate 3/11 of it.


b) Fraction of the cake left was ________.

Accepted answers:

4/11
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Question 20   Primary 2 Math » Primary 2 Math (Term 3) 3 pts

James wants to buy a bicycle which costs $352. He only has $189. His mother gives him $32. How
much more money does he need? 


He needs __________ more.

Accepted answers:

$131

$ 131
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